[E#R1iE]
BEENEHKERNERR RHI3EF 1H

HE| #KB8 |#KE[E| SE KB BHE DO pH coD T-P T-N HAan74)ba
g =g B4l AA =3 °C °c m mg/L — mg/L mg/L mg/L Ue/L
FF AHTAF xRE .
HENG oo 13:00 115 9.9 11.4 10.0 7.6 1.9 0.007 0.25 0.7
F F AhTARFaAy KB .
HRNhmE oo 12:44 11.4 9.6 115 10.0 7.6 1.9 0.007 0.25 1.2
FRATAF EIE] .
T oo 12:22 9.9 9.5 11.0 10.0 7.6 1.8 0.007 0.25 1.1
S Oﬁf 12:00 115 9.2 7.0 10.5 7.5 1.9 0.006 0.25 2.1
l .om
d |75 04+ =B )
w |ZE0; oo 1A268 13:30 10.9 9.7 9.6 10.0 75 1.9 0.005 0.25 1.0
E3xants ®E .
E oo 11:42 9.4 9.4 7.1 10.6 7.6 1.9 0.006 0.27 35
’;@’” Oﬁf 13:44 11.0 9.3 8.3 10.4 7.6 1.8 0.007 0.25 1.7
IR X4 .om
AoZAF *xE .
Fxm oo 14:17 11.9 9.7 7.4 9.9 75 2.0 0.007 0.27 3.0
£ J hUt% EIE] .
=EAE oo 8:35 75 8.4 3.0 10.9 75 25 0.014 0.35 5.1
AAIVHTAE xRE .
=N oo 9:18 3.3 6.1 2.0 12.0 7.6 2.9 0.018 0.31 11.2
AV TAEFoAY  FRB .
B AENAEBER o5m ]| | gion 10:04 4.0 4.2 1.4 13.0 7.8 3.2 0.020 0.33 14.8
it %;{B’E Oﬁf 9:53 3.2 4.3 15 13.2 7.8 3.1 0.023 0.29 16.0
0n°h s .om
MR xR 9:38 3.4 6.1 1.4 132 7.8 35| 0028 0.31 16.6
i l .om




[E#R1iE]
BEENEHKERNERR RHI3EF 2 A

HE| #KB8 |#KE[E| SE KB BHE DO pH coD T-P T-N HAan74)ba
g =g B4l AA =3 °C °c m mg/L — mg/L mg/L mg/L Ue/L
F ¥ 4 HTE EIE] .
HENG oo 12:14 46 8.1 7.2 10.7 7.8 1.7 0.006 0.24 0.8
F F AhTARFaAy KB .
HRNhmE oo 11:59 42 8.2 6.5 105 7.7 1.8 0.006 0.25 1.2
FRATAF EIE] .
T oo 11:36 38 8.2 6.0 11.1 7.8 1.9 0.006 0.23 36
7 <2 JhotE EIE] .
AT oo 11:15 3.1 7.6 2.8 11.7 7.8 2.4 0.014 0.28 9.3
d |75 04+ =B )
w |ZE0; ool 2A198 12:45 4.7 8.3 6.7 10.8 7.8 2.0 0.007 0.24 1.8
E3xants ®E .
E oo 11:04 43 78 35 115 7.8 2.2 0.011 0.26 8.5
’;@’” Oﬁf 12:59 49 8.4 6.8 10.7 7.7 1.8 0.007 0.24 15
IR X4 .om
AoZAF EIE] .
Fxm oo 13:35 55 8.5 6.7 10.8 7.7 1.8 0.006 0.24 26
£ J hUt% EIE] .
=EAE oo 8:30 4.1 78 7.4 11.4 7.7 2.1 0.011 0.26 5.0
AAIVHTAE xRE .
=N oo 9:10 11.0 10.0 2.8 11.6 7.7 2.6 0.014 0.31 10.1
AV TAEFoAY  FRB .
m | RENAFFR  05m 2158 9:55 10.8 9.2 22 11.9 7.9 2.8 0.017 0.31 14.9
it %;{B’E Oﬁf 9:40 11.2 9.1 2.2 12.2 8.1 3.0 0.017 0.31 19.0
0n°h 4 .om
MR xR 9:25 11.6 9.5 2.2 115 7.9 2.6 0.017 0.32 10.9
i l .om




[E#R1iE]
BEENEHKERNERR RHI3EF 3A

HE| #KB8 |#KE[E| SE KB BHE DO pH coD T-P T-N HAan74)ba
g =g B4l AA =3 °C °c m mg/L — mg/L mg/L mg/L Ue/L
F ¥ 4 HTE EIE] .
HENG oo 11:58 6.2 9.0 8.3 10.9 7.7 1.7 0.008 0.28 0.9
F F AhTARFaAy KB .
HRNhmE oo 11:43 6.6 8.9 7.2 11.2 7.8 1.7 0.007 0.26 1.2
FRATAF EIE] .
T oo 11:18 75 8.6 8.1 11.0 7.8 1.8 0.005 0.26 1.2
7 <2 JhotE EIE] .
AT oo 11:00 6.5 8.3 45 11.1 7.8 1.8 0.008 0.27 14
d |75 04+ =B )
w |ZE0; ==l sA9E 12:28 6.3 8.8 5.3 11.1 7.9 1.8 0.007 0.26 15
E3xants ®E .
E oo 10:48 6.4 8.6 3.8 11.4 7.8 1.7 0.007 0.26 1.6
’;@’” Oﬁf 12:42 6.6 9.0 5.8 11.6 7.7 1.8 0.007 0.26 2.6
IR X4 .om
AoZAF EIE] .
Fxm oo 13:16 78 10.1 5.7 11.9 7.8 2.0 0.007 0.25 3.4
£ J hUt% EIE] .
=EAE oo 8:30 5.8 8.5 3.1 11.7 7.8 2.4 0.012 0.33 7.1
AAIVHTAE xRE .
=N oo 9:22 6.2 10.3 3.1 11.4 7.7 25 0.011 0.24 4.9
AV TAEFoAY  FRB .
m | RENAFFR  05m SE11E 10:19 7.8 10.6 33 11.3 7.7 24 0.009 0.23 4.0
it %;{B’E Oﬁf 10:07 6.9 105 2.3 11.2 7.8 26 0.012 0.25 49
0n°h 4 .om
MR xR 9:45 6.0 10.0 2.3 11.4 1.7 28| 0012 0.26 5.7
i l .om




[E#R1iE]
BEENEHKERNERR RHI3EF 4R

IHE| #KB | #KERE| SE KiE BEHE DO pH coD T-P T-N | hOA74)ba
4 Eftr| AR BF5 °c °c m mg/L - mg/L meg/L meg/L e/l
e R 12:00 13.0 11.3 7.0 11.5 7.7 1.5 0.007 0.23 3.0
] 7 0.5m
F F AhTARFaAy KB .
HRNhmE oo 11:45 11.1 11.0 6.0 115 7.7 1.6 0.007 0.23 34
"’“**i*;?ﬁ’?q? Oﬁf 11:33 10.7 11.2 5.5 1.7 7.8 1.8 0.005 0.23 4.2
A, 4 .om
FRATAF EIE] .
T oo 11:16 10.2 10.2 6.3 10.9 7.8 1.6 0.006 0.23 1.7
’;”“"}’:E gl 12:21 12.4 11.1 5.7 1.7 7.8 2.1 0.004 0.24 43
B[ D) = 0.5m 456H
i S Oﬁf 10:57 9.8 11.8 3.7 11.0 7.8 1.8 0.009 0.25 24
4 .om
7 RS IAF *xE .
L oo 12:36 10.6 10.6 6.0 115 7.8 1.6 0.006 0.22 2.3
E3xants ®E .
= e oo 10:43 9.8 12.1 4.3 11.1 7.9 2.1 0.009 0.22 3.2
’;@’” Oﬁf 12:50 10.5 11.3 8.0 1.4 7.9 1.6 0.004 0.21 1.9
1¥3¢ .om
A Oﬁf 8:31 10.4 12.3 3.0 10.7 7.8 2.3 0.013 0.28 5.6
14 .Jm
DR == .
£ 4x%m oo 9:35 10.9 14.0 2.1 10.4 7.8 2.5 0.019 0.26 7.3
P == .
s |EERIN 5| 4Rs5H 9:25 11.2 14.2 2.0 10.1 7.8 3.1 0.026 0.29 9.1
v YAt =B )
M oo 9:07 11.0 145 2.0 10.0 7.8 3.5 0.030 0.37 10.7




[E#R1iE]
BEENEHKERNERR RHI3EF 5A

IHE| #KB | #KERE| SE KiE BEHE DO pH coD T-P T-N | hOA74)ba
4 Eftr| AR BF5 °Cc °c m mg/L - mg/L meg/L meg/L e/l
A R 12:30 16.4 15.0 7.7 11.2 7.8 2.2 0.005 0.22 2.9
] 7 0.5m
F F AHTARFaAy KB .
HRNhmE oo 12:15 16.9 14.6 7.5 11.0 7.8 2.1 0.004 0.22 2.5
’“**ﬁfg*q? Oﬁf 12:02 16.3 14.2 6.6 11.2 7.9 2.2 0.005 0.21 3.6
A, 4 .om
FRATAF EIE] .
it oo 11:44 15.8 14.0 5.8 11.1 7.9 2.1 0.004 0.22 2.9
’;”“"}’:E gl 12:58 16.3 15.3 438 11.1 7.9 2.4 0.007 0.24 5.3
;": ARiEY 0.5m 5ﬁ 18
i A Oﬁf 11:24 15.4 15.7 3.9 11.1 8.0 2.2 0.007 0.23 43
4 .om
7 RS IAF *xE .
L oo 13:16 16.7 14.7 4.9 11.1 7.9 2.4 0.008 0.24 5.7
E3xants ®E .
= e oo 11:10 16.2 15.8 3.9 11.3 8.0 2.4 0.009 0.25 5.4
’;@’” Oﬁf 13:25 17.2 14.4 6.3 11.1 7.9 2.2 0.006 0.24 4.0
1¥3¢ .om
SE e Oﬁf 8:32 14.5 16.2 238 10.2 7.8 3.8 0.049 0.58 15.6
14 .Jm
DR == .
£ 4x%m oo 9:45 16.5 17.7 2.8 10.2 7.9 2.8 0.010 0.25 5.3
P == .
s |EERIN cer | sA108 9:32 17.1 18.2 1.5 10.2 7.9 3.7 0.033 0.36 17.8
v YAt =B )
M oo 9:15 17.7 18.2 1.8 10.2 8.0 3.2 0.018 0.29 11.7




[E#R1iE]
BEENEHKERNERR RHI3EF 6 A

IHB| #KkB | 8KEHE| SR KB EHHE DO pH coD T-P T-N HOna74Jba
4 Eftr| AR BF5 °Cc °Cc m mg/L - mg/L mg/L mg/L e/l
F ;A HTAF == .
HAENG oo 12:11 275 21.9 5.7 10.9 9.0 2.1 0.014 0.16 2.1
F F AHTARFaAy KB .
HRNhmE oo 11:54 22.7 215 6.3 1.5 9.0 2.3 0.007 0.15 2.8
’“**ﬁfg*q? Oﬁf 11:41 23.4 21.9 75 1.0 9.1 2.5 0.005 0.14 3.2
A, 4 .om
i Oﬁf 11:25 23.7 20.2 5.3 11.9 9.0 2.4 0.006 0.15 35
4 .om
’;”“"}’:E gl 12:33 245 21.4 5.4 1.7 9.0 2.4 0.006 0.16 33
B[ D) = 0.5m 6H8H
it} 7"54,}’??* Off 11:04 26.3 22.0 5.3 10.9 8.8 2.9 0.010 0.18 6.4
4 .om
7 RS IAF *xE .
L oo 12:48 27.0 215 5.5 1.3 9.1 2.5 0.006 0.17 4.9
E3xants ®E .
= e oo 8:10 238 22.0 5.0 11.1 8.8 2.8 0.009 0.19 6.1
’;@’” Oﬁf 13:03 26.6 21.4 6.0 1.2 9.0 2.6 0.008 0.16 4.2
1¥3¢ .om
SE e Oﬁf 8:40 226 21.6 3.0 11.7 8.5 3.9 0.027 0.26 18.1
14 .Jm
L A% == .
£ 4x%m oo 9:33 25.1 22.0 2.5 95 8.1 2.6 0.011 0.18 4.4
P == .
s |EERIN ==l eA7H 9:20 255 21.6 1.8 9.8 8.3 3.4 0.024 0.25 10.6
v YAt =B )
M oo 9:07 274 22.2 2.3 10.0 8.2 3.2 0.020 0.23 8.9




[E#1E]
BEENEHKERERER THI3E 1A

HE| #/KB8 |#KEHE| SE KB BEAE DO pH coD T-P T-N HAan74)ba
e Bzl AH =3 °C °c m mg/L — mg/L mg/L mg/L ue/L
F ¥ £ HT% EIE] .
HENG oer 11:57 26.0 25.1 6.3 9.2 8.8 2.3 0.009 0.14 2.1
F F A HTAEFaAy KB .
HRNhmE oo 11:42 25.4 24.9 7.2 9.1 8.8 2.2 0.006 0.12 15
’“‘*ﬁfgﬁ; ff; 11:30 253 246 6.8 94 8.9 2.2 0.007 0.12 16
i Oﬁf 11:13 2538 24.6 58 9.4 9.0 2.3 0.006 0.14 2.4
l .om
";”“"E’:E‘ gl 12:18 25.4 25.0 6.0 95 9.1 2.5 0.007 0.12 2.0
it |9h ik 0.5m 7568
i A Oﬁf 10:52 265 24.8 5.2 9.3 9.0 24 0.010 0.16 3.5
l .om
7 REH IAF *®E .
Tk oer 12:31 27.0 25.1 6.4 9.3 9.1 2.3 0.005 0.12 1.9
EaAamt® xE )
A oer 10:39 25.6 24.9 4.1 9.3 8.9 25 0.012 0.17 48
’;@’” Oﬁf 12:46 26.9 25.2 6.1 9.3 9.1 26 0.007 0.12 2.4
IR X4 .om
= ’T,j’ﬁ?*‘ Oﬁf 8:30 24.8 24.9 2.0 8.8 8.4 3.4 0.028 0.36 6.0
1A .om
%;{B’E Oﬁf 9:43 27.2 25.7 2.2 8.2 8.8 3.0 0.026 0.26 135
0n°h s .om
B (495 o+ EIE] .
s |EERIN ==l 7A5H 9:38 27.3 26.2 1.4 8.5 8.6 3.2 0.029 0.28 12.2
AR =B )
M oer 9:20 27.8 26.3 1.8 8.8 8.6 3.8 0.030 0.31 18.2




[E#fiE]
EENTEHKERERR gEIkE:S 8A

IHR| #kB |[#KERHE| SE KB BEE DO pH COD T-P T-N Had74)ba
4 B4l AH B °C °C m mg/L — mg/L mg/L mg/L ue/L
A s = 13:12 285 28.0 6.0 8.0 8.7 2.8 0.008 0.16 2.0
MRS 0.5m
F ¥ AHIAEFaty KRB )
HARRE . oon 12:51 29.4 28.3 6.4 8.2 8.8 2.9 0.007 0.16 1.9
"‘“iﬁ‘?ﬁ’?j; =/E 12:32 28.5 28.6 5.9 8.1 8.7 2.9 0.008 0.22 1.9
LR 0.5m
pesiens el 12:14 28.1 28.0 5.5 8.1 8.7 32| 0008 0.17 2.9
gl S ng = 13:34 28.0 28.7 5.3 8.2 8.9 3.0 0.009 0.18 1.9
jt 17<1¢ 05m 8ﬁ 3 E
W \zgrnrs pat 11:53 29.2 28.6 5.1 8.1 8.7 3.0 0.009 0.21 2.0
7)1 % 0.5m
7 K5 A% =IE _
8[| i 13:51 27.5 28.2 6.2 8.2 8.7 3.0 0.007 0.15 1.9
EJAXaTAF =®E :
% 53 i 11:37 28.1 28.9 5.0 8.1 8.8 2.9 0.008 0.16 1.7
AAsytE =2 )
= i 14:06 27.1 28.4 5.2 8.2 8.8 3.0 0.010 0.19 2.2
g = 8:20 28.3 28.6 5.8 8.0 8.8 2.8 0.008 0.19 1.6
7)I1; 0.5m
A g el 9:46 32.3 30.5 1.0 10.4 9.8 6.3 0.029 0.60 48.1
u?iBFF 0.5m
B [«sv50qxx =2 )
s |BiE 20 ot | 8A2A8 9:32 30.5 30.5 1.3 8.8 9.3 5.8 0.031 0.63 39.8
G Fal 9:20 308 30.3 1.8 838 9.0 45| 0033 0.50 177
7 s .om




[E#fiE]
EENTEHKERERR gEIkE:S 9R

IHR| #kB |[#KERHE| SE KB BEE DO pH COD T-P T-N Had74)ba
4 B4l AH B °C °C m mg/L — mg/L mg/L mg/L ue/L
A s = 12:13 26.2 26.4 5.5 8.8 8.2 26 0.008 0.15 1.9
MRS 0.5m
F ¥ AHTAEFavEY  RIB )
HARRE . oon 11:57 26.5 26.0 6.3 8.5 8.1 25 0.005 0.15 15
"‘“ﬁ?ﬁ’?j; =/E 11:45 26.5 26.4 6.5 8.5 8.1 2.7 0.006 0.15 2.1
LR 0.5m
pesiens el 11:27 28.4 26.5 5.7 8.4 8.1 27| 0007 0.18 2.2
gl S ng = 12:32 26.6 26.4 5.7 8.5 8.3 2.7 0.006 0.15 2.7
jt 17<1¢ 05m gﬁ 7 E
W \zgrnrs pat 11:07 27.3 27.0 3.7 8.7 8.3 2.8 0.009 0.16 35
7)1 % 0.5m
7 K5 A% =IE _
8[| i 12:50 26.5 26.3 6.5 8.6 8.2 2.7 0.006 0.15 1.6
EJAXaTAF =®E :
% 53 i 10:53 23.7 26.9 3.3 8.7 8.3 3.1 0.011 0.18 4.8
ASYEF =®E :
= i 13:03 25.7 26.0 45 8.3 8.1 3.0 0.008 0.16 2.7
g = 8:37 241 26.0 2.0 8.4 8.0 2.8 0.013 0.18 48
7)I1; 0.5m
S F A Ed= )
LI i 9:40 25.9 26.9 2.1 7.8 7.9 3.4 0.015 0.23 7.7
B [«sv50qxx =2 )
s |BiE 20 o | 9A6RH 9:25 25.9 26.9 15 9.1 8.1 4.0 0.024 0.30 16.1
G Fal 9.07 26.2 26.9 1.1 8.9 8.2 37| 0023 0.26 136
7 s .om




[E#fiE]
EENTEHKERERR gEIkE:S 10AR

IHR| #kB |[#KERHE| SE KB BEE DO pH COD T-P T-N Had74)ba
4 B4l AH B °C °C m mg/L — mg/L mg/L mg/L ue/L
A s = 14:20 255 24.3 5.4 8.9 8.1 2.9 0.006 0.15 2.3
MRS 0.5m
F ¥ AHTAEFavEY  RIB )
HARRE . oon 14:07 27.6 245 5.7 9.0 8.1 2.8 0.006 0.14 2.0
"‘“iﬁ‘?ﬁ’?j; =/E 13:55 26.2 245 6.5 9.0 8.1 2.8 0.005 0.14 2.7
LR 0.5m
el Fal 13:40 26.0 24.6 6.2 8.9 8.1 2.7 0.008 0.14 2.2
gl S ng =[E 14:40 27.2 24.6 6.0 9.0 8.1 2.7 0.005 0.14 2.7
jt 17<1¢ 05m 1OE5E
W \zgrnrs pat 13:18 27.3 25.7 5.2 9.0 8.1 2.8 0.008 0.15 2.6
7)1 % 0.5m
7 EH A% == )
8[| i 14:55 27.8 25.4 6.0 8.9 8.1 2.8 0.006 0.15 2.9
EaxaYvit .;EE .
% 53 i 13:06 27.0 24.9 4.7 9.1 8.1 2.8 0.009 0.16 3.6
ASYEF =®E :
= i 15:08 27.0 25.7 5.7 8.8 8.2 25 0.008 0.15 2.4
e Ky pat 11:00 28.7 25.1 35 8.5 7.9 2.8 0.011 0.19 45
7)I1; 0.5m
Ay =/E 9:43 241 24.6 2.4 8.9 7.9 3.2 0.025 0.26 13.3
u?iBFF 0.5m
B [«sv50qxx =2 )
s |@ER)I0N =5l 10R48 9:28 23.8 24.0 1.3 8.8 8.1 2.8 0.012 0.20 4.8
ARy =/E 9:13 23.9 24.3 15 9.2 8.1 3.3 0.022 0.26 11.0
El%l 0.5m




[E#{E]
BEENTHKERERER SFI3E 1118

IHR| #kB |[#KERHE| SE KB BEE DO pH COD T-P T-N Had74)ba
4 B4l AH B °C °C m mg/L — mg/L mg/L mg/L ue/L
A s =/E 9:55 15.7 175 5.0 9.4 7.9 2.2 0.006 0.15 4.2
MRS 0.5m
F ¥ AHIAEFaty KRB )
HRwma oo 10:10 15.6 17.7 5.9 9.5 7.9 2.1 0.006 0.14 3.8
"‘“iﬁ‘?ﬁ’?j; ?F 10:23 15.7 175 6.5 9.4 7.9 2.3 0.007 0.16 4.3
B/ s .om
i el 10:40 160 175 5.0 9.4 80 24| 0005 0.15 46
gl S ng =/E 9:35 15.6 17.6 6.1 9.5 7.9 2.2 0.006 0.15 46
jt 17<1¢ 05m _I _I ﬁ 9 E
L 5iTEN Fal 11:02 16.5 17.7 43 9.5 8.0 25| 0009 0.15 4.4
l .om
7 K5 A% RE _
8[| i 9:20 15.3 175 5.6 9.3 7.9 2.2 0.006 0.15 4.3
EJAXaTAF =®E :
e i 11:20 15.4 175 3.4 9.6 8.0 2.4 0.011 0.17 5.0
ASYEF =®E :
= i 9:03 15.9 17.7 3.6 9.3 7.9 25 0.011 0.19 6.1
A Ky =/E 8:30 16.6 175 2.8 9.3 7.9 2.8 0.017 0.19 46
7)I1; 0.5m
S F A EE] )
£ 3% i 9:41 20.9 16.7 1.3 1.3 7.7 26 0.015 0.23 8.0
B v 7504% xE )
s |@ER)I0N fydell RRDCEL= 9:30 19.2 16.5 1.2 1.2 7.8 3.0 0.025 0.26 10.3
L Fal 9:15 18.8 16.3 0.8 0.8 7.7 45| 0030 0.32 11.2
7 s .om




[R$5E)
EENEHKERERR FM3EF 12R

IEH| kB |HXKEME| SE KB A E DO pH COD T-P T-N Had74)ba
4 B4l AH B °C °C m mg/L — mg/L mg/L mg/L ue/L
pA e s = 12:07 11.4 13.2 7.3 10.1 7.8 2.7 0.006 0.17 46
EMRI; 0.5m
F ¥ AHTAEFavEY  RIB .
HAIRERR . oo 11:52 1.3 13.1 7.6 10.2 7.8 25 0.006 0.16 4.9
"‘“*52"?”’?5; = 11:40 11.7 13.2 6.6 10.2 7.8 25 0.007 0.18 5.3
[ 12 7 0.5m
i ing = 11:23 1.8 13.0 5.2 10.1 7.8 2.4 0.007 0.18 5.8
JI; 0.5m
g S ng = 12:28 11.1 13.3 6.5 10.2 7.8 2.7 0.006 0.16 49
jt 1737¢ 05m 12ﬁ7E
W \zgrnrs at 11:03 114 12.8 5.5 10.4 7.8 2.6 0.007 0.17 6.1
7)1 % 0.5m
7 EH T4% =2 .
8[| oo 12:43 1.3 13.3 6.1 10.1 7.8 25 0.007 0.16 5.1
Eaxavit .;EE .
= 5 3 oo 10:48 115 12.9 5.4 10.6 7.8 2.6 0.005 0.16 6.2
AAsytE =2 .
= oo 12:57 11.9 13.4 6.0 10.1 7.8 2.6 0.008 0.18 4.9
R = 8:15 10.0 12.4 45 10.6 7.9 2.8 0.011 0.20 5.8
7I11; 0.5m
S F A Ed= )
LI oo 9:31 7.4 9.3 1.6 116 7.9 3.7 0.019 0.23 14.8
B v 7504% EAE )
s |@ER)0N cui | 12868 9:24 7.3 9.2 15 116 7.9 3.1 0.017 0.23 13.2
X 2 4amtE =2 .
B oo 9:06 7.6 8.1 1.4 115 7.9 3.3 0.017 0.24 12.6




